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. [e*.cosx.dx

N

- [x*.Inx.dx

w

. [eX.sin x.dx

o~

. je’3x.cos X.dx

(62}

. Ie‘sx.sin X.dx

()]

. Ie3x.cos 2x.dx

~

: Iezx.c033x.dx
8. J'(arcsin x)* dx
9. j x2.In(3x).dx
10. _[xs In x.dx
11. J' x“e¥dx

12. _[arccosx dx

13. _[xs In2x dx

Calcul de primitives

Primitives par parties : énoncés

[f(x).9"(x).dx = f(x).g(x) = [ ' (x).g(x).dx
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Primitives par parties



1.P=[e*.cosx.dx

Primitives par parties : corrigés

[£(x).g" (x).dx = f(x).g(x) = [ (x).g(x).dx

> f=ex f =ex
g =cosx g =sinx P =¢*.sinx—[e*.sinx.dx
%/—J
P1
> f=ex f =ex
g =sinx g =-cosx P, =e*.(—cosx) + [e*.cos x.dx
P
X i X e (sinx+cosx)
P=e".sinx+e”.cosx—P < P = 2 +C
2. P=[x*Inx.dx
f = Inx f = 1
X
X
' = x4 =
8 g 5
5 5 5 5 5
P= X—.Inx—ji.x—.dx:X—.Inx—j—.dx: X Inx-2+cC
5 X 5 5 5 5 25
3. P =[e".sinx.dx
> f=ex f =ex
g =sinx g =-cosx P =e*.(—cosx) + [e*.cosx.dx
%/—/
P1
> f=ex f =ex
g'=cosx g =sinx P, =e*.sinx—[e*.sinx.dx

P =¢*.(—cosx)+e*.sinx—P < P =

Calcul de primitives

e*(sinx —cos x)
+

—_
P

C

2
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4.P = [e ¥ cosx.dx
> f(x)= e

g’(x) = cosx

> f(x)=e™

g’(x) = sinx

5. P =[e X sinx.dx

> f(x)=e™
2’(x) = sinx
> f(x)=e™

g’(x) = cosx

Calcul de primitives

f(x)=-3 e
g(x) = sinx P =e ¥ sinx+3.Je™* sinx.dx
—_
P1
f(x)=-3 e
g(x) = -cosx P, =e ¥ (—cosx)—3[e *.cos x.dx
R
P

P=e sinx+ 3.(e‘3x(—cos X)— 3P)

3

< 10.P = e ¥ sinx—3.e3*.cos x

e‘3"(sinx—3cosx)+

< P= C
10
P(x)=-5.e
g(x) = -COSX P=—e"% cosx—5.Je™>%.cosx.dx
%f—/
P1
P(x)=-5 e
g(x) = sinx P =e X sinx+ 5]e"5x.sinx.dx
%f—/
P

P=—e"% cosx— 5.(e‘5x.sinx+ 5P)

5

& 26.P = -7 cosx—5.67°% sinx

_p—5X ;
e (cosx+5.smx)+C
26

S P=
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6. P = [e3*.cos 2x.dx

f=e¥* f=3e>

> sin2x P=esx.%—§je3x.sin2x.dx
g'=cos2x Q= 2 ) SR
2 P1
Foer F=3e” —-cos2x 3
> - C0S2X P, =e*. +>[e®*.cos 2x.dx
g'=sin2x g= 2 ) SRR
2
p=ed SINZX_ 3 3 ZC0S2X 35| p_ o3¢ SIN2X 3 03¢ cosox—Ip
2 2 2 2 4
i 3X i 3X
1—3P=e3x.smzx+§e3x.0052x<:>P=2'e .sm2x+3.e 'C032X+C
2 4 13 13

3x ;
_e (2.sm2i<3+ 3.c0s 2X)+C

<P

7. P =[e? cos3x.dx

foem  Fo2e” sin3x 2
> sin3x P=e2* 222 _Z[e® sin3x.dx
g'=cos3x g= 3 3~ "0
P
f = f=2e% —cos3x 2
> , - c0S3X P, =e*. +=[e?*.cos 3x.dx
g'=sin3x g= 3 3 Bﬁ—/

.cos3x—ﬂP
9

+—-P
3 3 3

P=82x_sm3x_g(e2xl—c?3x g )@ b _o2x SIN3X_ 2

: 2X o: 2X
<:>1—93P=e2x.sm3x+ge2x.cos3x<:>P=3'e .sm3x+2.e .C0S 3X

+C
3 9 13 13

2X ;
_e (3.sm3i<3+ 2.08 3X)+C

<P
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8. P = [ (arcsinx)?dx

» f(x) = (arcsinx)? f(x) = 2.arcsinx. -
- X
gx)=1 g(x)=x
P = x.(arcsinx)?—2[arcsinx. 2.dx
- X
P
. 1
» f(x) = arcsinx f(x)=
1-x2
g'(x)= 1X - g(x) = —+v1-x2  (posert=1-x?)
—X

P, =—V1-x2.arcsinx+ [1l.dx=—v1-x2.arcsinx+ X

P =x.(arcsinx)?— 2(— 1—x2.arcsinx+ x)+ C
= X.(arcsinx)?2+ 2+/1—x2.arcsinx—2x+C

9. P =[x2In(3x).dx

f = In(3x) pos 1
33X X
X3
'—= X2 = —
g g 3
3 3 3
p= X .In(3x)_Il.x_.dX: x%In(3x) 1 w2.dx
3 X 3 3 3
3 3
_X .In(3x)_x_+c
3 9
5
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10. P=[xInxdx

f = Inx p=t
X
4
3 X
=X = —
g g 4
4 4 4 4 4
P:%Inx—jl%dx:%Inx—%jx3dx:%lnx—%%+c
X
4 4
=X7Inx—%+c
11. P =[x?e¥dx
f =x2 f'=2x
3X
g=e™ 0=3
3X 3x
szze——j2xe—dx
3 3
3x
P=x2e——zjxe3xdx
3 33—
P1
f=x f=1
3X
g=e” 9=3
3x 3x 3x
Pl—xe——jl.e?dx:x%—lje”dx
3X 3X
Pl_xe__e_
3 9
3X 3X 3X
p=x2® 2| & | c
3 3L 3 9
3x
x2S 2y, 2o
3 9 2
3x
=e—(9x2—6x+2)+C
27

Calcul de primitives
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12. P = [arccos x dx

P = [1.arccosx dx

> f =arccosx po 1
1-x2
g'=1 g=Xx
P = x arccos x — [ ———— x dx
1-x2
X
P =xarccos X+ | dx
1-x?
%/—J
P1

> Posons: t=1-x2

dt=-2xdx < dx:i

-2X
x dt -1, 45, -1t

P=[——=""[tYt=—-——+C
! jﬁ-zx 2! 2 1
2

P, = -/t = —V1-x?
P =xarccosx—v1—x% +C

13. P =[x In2xdx

f = In2x p-t
X
6
5 X
=X = —
g g 5
6 6 6 6 6
P:X—In2x—j1 X—dx:x—ln2x—1jx5 dx=max-1X ¢
6 X 6 6 6 6 6 6

x® x® x®

P=""In2x-=—+C==-(6In2x-1)+C
6 36 36
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